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What is the (y-coordinate of the) y-intercept of the
tangent line to the curve defined by
(z* +y*)* = 2% + 3zy + y* + 26 at the point
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You may use a four-function calculator to compute
the result. Present your answer to the tenths place.
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implicit differentation
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The functions 2(t) and y(t) satisfy the following
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For which of the following functions f(z) is
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linear approximation
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Question 3

Aclosed box with a square base, of dimensions w x w feet
and height of h feet, is to have a total volume of 9 cubic feet.
The material for this box costs $2 per square foot for the top
and bottom and $6 per square foot for the sides.

What is the minimal cost in dollars of such a box?
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optimization

‘What is the absolute maximal value of the function

f(z) = 2% — 32° — 36z + 4wertheinterval

maximization

‘The functions z(£) and y(t) satisfy the following equation.
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Suppose that we know that z(0) = —2. 2(7) = 2. %(0) = 4.
L(7) = —5.4(0) =3,2nd y(7) = —1.

Whatis (7)?

implicit differenationa

Let f(z) = 2° -8z + 1.

Which of the following is an approximate solution to f(z) = 0
obtained using the method of linear approximation with an initial
guess of z = 07

linear approximation
What is the (y-coordinate of the) y-intercept of the tangent line to
the curve defined by(z? + 3%)? = z* + 3zy + y? + 26 at the
point (1,2) ?

‘You may use a four-function calculator to compute the result.
Present your answer to the tenths place.
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What is the (y-coordinate of the) y-intercept of the tangent line to
the curve defined by(z? + 3?)? = z° + 3zy + 3 + 26 at the
point (—1,2) ?

You may use a four-function calculator to compute the result.
Present your answer to the tenths place.

Atwhat value of x does the graph of y — f(z) = g™ 37" for

> 0 have a relative maximum?

maximization



